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COMPLETING THE SQUARE
EQUIVALENT EXPRESSIONS
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Ref: (}243.3 S 1

A1l Express x* — 2x
in the form (x + a)* + b

A2 Express x” + 14x
in the form (x + h)* + k

A3 Express x” + 5x
in the form (x + m)* + n

A4

Express x* — 13x
in the form (x + p)* + ¢

B1 Express x” + 18x
in the form (x + p)* + ¢

B2 Express x* +21x
in the form (x + m)* + n

B3 Express x* + 10x
in the form (x + h)* + k

B4

Express X —x
in the form (x + a)* + b

C1 Express x” —4x + 20
in the form (x + h)* + k

C2 Express x” —3x— 10
in the form (x + p)* + ¢

C3 Expressx” + 14x + 6
in the form (x + a)* + b

C4

Express x* + 9x + 8
in the form (x + m)* + n

D1 Express 3x* + 12x
in the form a(x + b)* + ¢

D2 Express 5x* + 10x + 20
in the form a(x + b)* + ¢

D3 Express 2x° — 6x + 5
in the form a(x + b)* + ¢

D4

Express 2x° + 9x — 3
in the form a(x + b)* + ¢
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Al Express x* — 2x A2 Express x* + 14x A3 A4
in the form (x + a)* + b in the form (x + h)* + k 5V (5Y ) 133Y (13Y
x2+5x=(x+—) —(—] X —Bx=\x-7"] - 5
X -2x=(x-1) - 17 X+ U= (x+77 =7 2/ \? e
=(x-1)*-1 - 2_y _[xs2] B = x-=] -==2
(x-1) (x+7) —H9 _(Hz] : > | -
B1 Express x* + 18x B2 , | B3 Express x>+ 10x B4 ) )
. 2 2 2 . 2 2.
in the form (x + p)° + ¢ X2+21X=(X+%J _(%J in the form (x + h)" + k X?—XZ(X—%J _(%J
X*+18x =(x+9) -9 . x*+10x=(x+5)*-5* -
=(x+9)*-81 = x+% et =(x+5)*-25 = x—1 i
2 m = \"72) Tu
C1 Express x° — 4x + 20 C2 C3 Expressx” + 14x + 6 Cc4
in the form (x + )’ +k 2V (3Y in the form (x + a)* + b 9Y (9Y
x2—3x—10=(x——] —(—) -10 x2+9x+8:(x+—J —(—J 8
X*—Ux+20=(x—2)* - 2% +20 2 2 X+ AUx+6=(x+7)7-7"+6 e 2
— (x—2f +16 _(,_3)_% =(x+7)" 43 [, 9) %
*72 4 X*o I

D1 Express 3x” + 12x
in the form a(x + b)* + ¢

3[X2 + Hx] = 3[(x +2)7 — 22]
=3(x+2)-12

D2 Express 5x” + 10x + 20
in the form a(x + b)* + ¢
5[ X" +2x]+20=5[(x+1) -1"]+20
=5(x+1-5+20
=5(x+1) +15
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